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Beispiel: 

Angabe: a = 4,8 m, b = 3,7m, c = 1,5 m, d = 2,7 m und h = 2,6 m 

a) Flächeninhalt = ?   

b) Umfang = ? 

  

a) Rechnung Flächeninhalt: 

Flächeninhalt: A = ______________________________ 

Flächeninhalt: A = ______________________________ 

Flächeninhalt (A) = ____________ m²  

Antwortsatz: _______________________________________________ 

  

b) Rechnung Umfang: 

Umfang: U = ______________________________ 

Umfang: U = ______________________________ 

Umfang (U) = _____________ m 

Antwortsatz: _______________________________________________ 

https://www.mein-lernen.at/mathematik/flaechen/trapez

	dd
	Beispiel:

